
$UWLFOHV RI �DQG DERXW� 3DXO (UGR̀V LQ =HQWUDOEODWW 0$7+

=EO ���������
(UGR̀V� 3DXO� 1DWKDQVRQ� 0HOY\Q %�
0D[LPDO DV\PSWRWLF QRQEDVHV� �,Q (QJOLVK�
3URF� $P� 0DWK� 6RF� ��� ����� ������� >���������@

6HL $ HLQH 0HQJH YRQ QLFKWQHJDWLYHQ JDQ]UDWLRQDOHQ =DKOHQ PLW � � $� $

KHL�W DV\PSWRWLVFKH %DVLV GHU 2UGQXQJ K� ZHQQ VLFK DOOH KLQUHLFKHQG JUR�HQ
QDWbXUOLFKHQ =DKOHQ DOV 6XPPH YRQ K (OHPHQWHQ YRQ$ GDUVWHOOHQ ODVVHQ� $ KHL�W
PD[LPDOH DV\PSWRWLVFKH 1LFKWEDVLV GHU 2UGQXQJ K� ZHQQ $ NHLQH DV\PSWRWLV�
FKH %DVLV GHU 2UGQXQJ K LVW� XQG ZHQQ IbXU MHGHV QDWbXUOLFKH D �� $ GLH 0HQJH
$ > IDJ HLQH DV\PSWRWLVFKH %DVLV GHU 2UGQXQJ K LVW� 2E MHGH DV\PSWRWLVFKH
1LFKWEDVLV $ GHU 2UGQXQJ K LQ HLQHU PD[LPDOHQ DV\PSWRWLVFKHQ 1LFKWEDVLV GHU
2UGQXQJ K HQWKDOWHQ LVW� LVW QLFKW EHNDQQW� ,Q GHU YRUOLHJHQGHQ $UEHLW ZHUGHQ
KLQUHLFKHQGH %HGLQJXQJHQ IbXU DV\PSWRWLVFKH 1LFKWEDVHQ DQJHJHEHQ� GLH GLHVH
(LJHQVFKDIW EHVLW]HQ�
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